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Bank's magic of currency, the relation between
compound interest and Euler number

Chi-Cheng Hsieh '* and Hsiang-Hua Hsieh ?

! The Affiliated Tao-Yuan Agricultural & Industrial Senior High School of National Taipei University of
Technology
2MediaTek Inc.

Abstract

The currency in circulation increases due to the Required Reserve Ratio announced by the Central
Bank. Both savings and loans result in interest problems, which are decided by it is single interest or
compound interest, the period of compound interest (e.g. yearly, monthly daily etc.) besides the interest rate.
If the period of compound interest is limited to 0, the formula would be subtly related to Euler's number (e),
namely e.

By making good use of geometric progression, the seemly complicated compound interest problem
would become much simpler.. And from then on, the beauty of the math shows.

Keywords: required reserve ratio, single interest, compound interest, Euler's number, geometric
progression
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